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Operations with Polynomials

1)  Multiply out the following, tidying up the answers by putting together as much as possible.

(1) 3x(2x + 3y) + 4y(x + 7y)
(2) 5p2 (2p +3q) + q* (3p + 5q) + pa(p + 2q)

2)  Multiply out the following pairs of brackets.

1) (x+2)(x+3) 2) (a+3)a-4)

3)  x-2)(x-3) 4)  (p+3)2p+1)

5) (3x - 2)(3x + 2) 6) (2x - 3y)(x + 2y)

7)  (3a-2b)(2a - 5b) 8)  (3x+4y)?

9) (3x - 4y) ? (3x + 4y)(3x - 4y)
(2p* + 3pa)(5p + 3q) (2ab - b*)@* - 3ab)
(@+b)a? -ab+b?) (@a-b)a® +ab+b?)
(2x + 3y) (x + 5y) (3a - 5b)(2a - b)
(Bx +2)° (2y - 5)°

(2p? +3pa)g’ - 2pq)
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